


—_1 Question Bank in Civil Engineering

14.  The percentage of sulphur in structural steel is restricted
to
(@) 0055  (b) 015 (c) 058 () 075

IS.  Junction between the flange and web of a beam is

known as

(@) lap joint (&) butt joint

(c) fillet () shear joint
16. A channel section consists of

(@) two webs (&) two flanges

(¢) two webs and two flanges
(@) one web and two flanges

17. A piece of round steel forged in place to connect two
or more steel members is known as a
(a) bolt (b) rivet (¢) screw  (d) nail

18. The size of the rivet is expressed by the
(@) length of shank (b) diameter of shank
(¢) type of head (d) none of the above

19. The hot driven rivets are
(@) power driven shop rivets
(b) hand driven rivets
(c) power driven field rivets
(d) all the above
20. The rivets which are driven at atmospheric temperature
are known as
(a) power driven shop rivets
(6) hand |

28'

29.

30.

31.

32.

33.

34,

(@ lmm (b)) Smm  (©) 2mm  (d) 25,
The diameter of a rivet hole is made larger 1h,,, .
diameter of rivet by 2 mm for rivet diameters

(a) upto 12 mm (b) upto 22 mm

(¢) upto 15 mm (d) exceeding 25 mm
The distance between two consecutive rivets of ad;,
chains and measured at right angles to the direcy,,,
force in the structural member is known as

(a) pitch of rivet

(b) staggered pitch of rivet

(¢) gauge distance of rivet

(d) any oneof the above

The rivet line is also known as
(a) scrieve line (b) back line
(¢) gauge line (d) all the above

The distance measured along one rivet line from .
centre of a rivet on it to the centre of the adjoining r,. .
on the adjacent parallel rivet line is known as

(a) staggered pitch (b) alternate pitch

(c) reeled pitch (d) any one of the aboy.

As per L.S. 8001971 the working shear stress on gro:

area of power driven rivets is

(a) 785 kg/em? (b) 945 kg/cm?

(¢) 1025 kg/em? (d) 1575 kg/cm?

When the load line coincides with the centroid of 1.

rivet group, the rivets are subjected to

(a) Shear only (b) tension only

(¢) bending only (d) shear as well as tension
(IES 2012)

Pitch of tacking rivets, when double angles connecie!
back and acting as tension member should not be more
than

(@) 2.5 times the nominal diameter of bar

(b) 500 mm

(¢) 600 mm (d) 1000 mm
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(&) more possibility of brittle fracture in welding than

~ {©) inspection of welded joints is more difficult and

" ‘expensive and requires skilled mechame

- (@) more skilled operators are required

(€) all the above

The fusible material used in welding to dissolve and
facilitate the removal of oxides and other undesirable
substances is known as

(@) inert matenial (b) inert gases
(© fax (@) catalytic agent
(Civil Service Exam. 2008)

The coating on wires to be used as electrodes is done

in order to

(a) stabilize the arc and to use A.C. current

(&) speed up the welding operation by increasing melting
of the material

(€) form a slag over the weld in order to protect the
metal from atmospheric contamination

(d) all the above are correct

As compared to riveting, welding is preferred these

days because

- (@) it is a silent process (b) it is more econmical

(©) it has more efficiency (d) all the above are correct

In automatic welding, the electrodes used for welding
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72 As per recommendations of LS. 816, the Miniy,,,

74,

76.

of single run fillet weld for a plate of thickp,.,
or less than 10 mm should be
(@ 3mm  (®) Tmm  (©) H4mm

Fillet weld is not used for joining the paris
angle between fusion faces is P
(@) greater than 120°

(» less than 60°

() both (@) and (b) are correct

(«) both (@) and (») are wrong

For the structural members exposed to atmosp, -

most unsuitable type of weld is
(@) slot weld (&) butt weld
(¢) intermittent fillet weld (&) plug weld

The size of a butt weld is specified by

(@) throat thickness

(b) the effective throat thickness

(¢) thickness of thickest part joined

(@) 7/8 of the thickness of thickest part joine,|

The effective length of the fillet weld is
(@) Total length — 2 X throat size

(b) Total length — 2 x weld size

(©) 0.7 x total length

Sonl laat Weld size
(@) Total length — ‘—ﬁ

The effective length of intermittent weld. in respe.

the thickness of the thinner part joined. shoul] ;.
less than

~ (&) four times

() sixteen times

(d) 3 i

tion so that onc

acing bars [

to be prmidu‘

is taken
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4
95. As per IS : 816, if the angle between fusion faces of

afillet weld is 60° — 90°, the effective throat thickness

is equal to

(a) 0.5 x size of weld

(¢) 0.7 x size of weld

The size of deep penetration fillet weld is specified as

minimum leg length plus

(@ 12mm (b) 24mm (c) 3.6mm (d) 4. 8 mm

The effective length of fillet should not be less than

(a) the size of weld

(b) two times the size of weld

(c) three times the size of weld

(d) four times the size of weld

The effective length of fillet should not be less than

(a) two times (b) four times

(c) ten times (d) sixteen times

A structural member subjected to compressive force in

a directioin parallel to its longitudinal axis is called

* (a) post (b) stanchion
v (¢) column (d) any one of the above

100. A strut is a structural member subjected to
(@) tension in a direction parallel to its longitudinal axis
(b) tension in a direction perpendicular to its longitudinal
axis
'("c) compression in a direction perpendicular to its
longi’tudmal axis
m a direction prependicular to its

(IES 2012)

(b) 0.6 x size of weld
(d) 0.8 x size of weld

96.

97

98.

99:

106.

107.

108.

109.

110.

111.

112.

Slenderness ratio of the column will be

(@) [ xr (b) Ur

(© U+r? (@ i/r

where [ is effective length as r is radius of gyra,.

As per LS. 800 — 1971, the thickness of an Outstan,j;,
unstiffened member in compression as compared |,
outstanding length should be ‘
(a) 1/14 (b) 1/18 (c) 1/16 @ 1124
(GATE 2,

While designing compressioin members, the slendey,,
ratio for rolled steel beam sections is assumed as 7,
90 and so the corresponding working stress is assum|
(a) 600 kg/em? (b) 1,000 kg/cm?

(¢) 1,400 kg/cm? (d) 10,000 kg/cm?

(Civil Service Exam. 2(
As per LS. 800 — 1971, if the diameter of rivets is 16,
then the minimum width of lacing bar should be
(@ 40mm (b) 50mm  (c) 60 mm (@) 70 mm

In a structure generally wires and cables are use(
(a) compression member (b) tension member

(c) compression or tension

(d) to resist shear stresses only

In a structure, generally the members used as tensi

members are

(a) wires and cables (b) rods and bars

(c) angle and tee section (d) all the above are corr..
The area used for designing a tension member is
gross cross-sectional area of the member less the ar
of holes made for connections.

For calculating area of the hole, thickness of the memb.

is multipiled

(a) by area of the hole

(b) by diameter of the hole
(c) by circumference of the hai.e
(d} b,y ‘radms of the hole

10 of compression
dead loads and

(@) 20

Institution
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with the horizontal

167. The minimum thickness of web plate from corrosion

' 168.

169.

170.

171.

point of view should be
(@ 3mm (b)) 6mm
As per L.S. 800-1972, transve
throughout the length of the p
ratio between depth and thickness o
1) is

(a) greater than 85
(¢) greater than 32
The framed structure in which separate straight members
are so arranged and connected at their ends that the
external load applied at the joints will cause only direct
forces in the members is known as

(a) beam (b) truss

(c) pla‘e girder (d) portal frame

The ~-.angement of members in a truss is made in such
a way so that they should form

(a) rectangles (b) triangles

(¢) quadrilaterals (d) polygons

In single storeyed industrial buildings roof trusses are

preferred because they provide
(a) wider variety of roof shapes
(b) greater unobstructed interior floor

(©) 12mm () 20 mm

rse stiffeners are required
late girder provided the
f the web plate (d/

(b) lesser than 85
(d) lesser than 32

© economical in cost
(d) all the above are correct

_in a simply supported truss, the principal

177.

178.

179.

180.

(o) 45°
(@ 30° with
The main disadvantage

bridge is that

(a) the tension flange is not laterally supporteq

(b) vehicular traffic is directly exposed to wind prc..

(c) it is not possible to provide portal bracings r

(d) the road has to be taken to a higher level
llowing methods of design wouj

Which of the fo
suitable for metal structures subjected to stress rev,

and impact ?
1. Simple working stress design

2. Rigid-plastic design

3. Semi-rigid design

4. Elastic-rigid design

Select the correct answer using
Codes :

(@) 1,2, and 4

()1, 2; and 3

A steel welded plate gi
bending moment of 150 tm.
bending stress is 1650 kg/cm
depth of the girder will be
(@) 60cm (D) 80 cm

A continuous steel beam is shown in Fig. 12.85. It |
subjected to a set of working loads as shown. Th

plastic design moment of the beam is
~ 1tm

the vertical
of deck bridge over th,
Oup

the codes given be|,

() 1,3 and 4
@ 2,3 and 4
rder is subjected to a maxim,,

If the maximum permissik
2 then the most economic.

(¢) 100 cm (d 120 cm

T2t

ft | A y v i
f— 'Y T

Fig. 12.85.
(@ 1.70tm (d) 2.04m

(d) 32 mm

g a roof truss,

























